PAB - S&h#h1T88

R
EI R THNTRPABRAZE RIS RS RARMLAINES, ik
T A B RERATE 2 —

eI

- I8 PAB...D SX/EF
PAB...S B {EF

- AT 24 ZF 1596 Nm
(WER, SURES16 bar)

- SEES 6 bar

SR TEESERPESE

- IEBE -15°C E 80°C

- EEINE iR EREAR KR EN 1SO 521170 DIN 3337
FE IR AN AC (4R VDI/VDE 3845 (NAMURNES)

o Epiz] EEIEFETEER

IHFIE

- BERITVNAmLT.

WHEA/NMERIRI, TSNS BT ESMIREIEIT.

HEE, BEEFEREEGIR, SELREYCE, B, FRASHER.
AIREMNAT E5° A E, RS RERIEIE AL

EREER KESNRRIHN M,

EENGEREFRSEHN, BES, EEBE.

TEFESEE

FHIRE(RAL 5021) i35

FREERNEEMHIATTEMME, 125 7 MEmit.

I EfERas

TR SRS,

1/4



PAB - S&h#h1T88

fmiR
Fals FEMESEASTM6E005, B8 BRFEIR &1L
e 555842 (ADC12F0ZL101) , 3K FE
EE 555842 (ADC12/1ZL101) , PRSIk
s 55CrSi
%5 $E5820CrMo
BT 3ot
B S4RES
PAB105 D . FO7-F10 22
(1) (2] (3) (4]
O HITBRRY PAB052-300
D WAER
@ &
S12 BER+EERE
© I NEENE FO05 - F16 #HBEN 1SO 5211
O mHmEERYT [mm] EHEER T
Thee
PAB...D W{EAH 1T PAB..D U
Ei iR AOARESIRES, EEEB SR KRN
(=R EHHEFE90°)

@i ABIRESIRES, BEEB BT RS L,
(— IIRET £ 5EF290°) PAB..D U

PAB...S B{ERH1TEH

B s O BRI URES, (2B E S BB X BRI, PAB..S O
B E4E34
(TR ETHEEZ90°)

SEHESBCEE S EER IR
(— NRE £t HiEFZ90°) PAB...S U

www.interapp.net 2/4



PAB - S&h#h1T88

H3E{E [Nm]
PAB...D - JUEAHITEE
SIRE/6 bar FEYHEE
PAB 052 D 24
PAB 063 D 44
PAB 075 D 60
PAB 083 D 94
PAB 092 D 135
PAB 105D 196
PAB 125D 301
PAB 140 D 522
PAB 160 D 794
PAB 190 D 1280
PAB 210 D 1596
H*E{E [Nm]
PAB...S - B{ERITEE
SIREA6 bar FRHEE [Nm]
0° 90° 90° 0°
PAB 083 s12 56 38 55 37
PAB 092 s12 80 56 79 55
PAB 105 s12 119 77 118 76
PAB 125 s12 181 114 187 120
PAB 140 s12 315 211 310 206
PAB 160 s12 459 332 462 335
PAB 190 s12 825 512 768 455
PAB 210 s12 1134 703 1056 625
PAB 240 S12 1823 1113 1644 934
PAB 270 s12 2664 1572 2304 1212
PAB 300 S12 2754 1746 2478 1740
PAB...D PAB...S
A A
Md Md | Preum to inq toraue
- tor, ing
[Nm] [Nm] que Spr
m 1
H =
& as]
0° I E 90° 0° i1 E 90°

www.interapp.net 3/4



PAB - S&h#h1T88

F
EN ISO 5211 T PORT '2'

R~

A B C D E F G| N [P | R|S [TV Z1 |VJ]|VJIl| tr it [kal | t," [kal
PAB 052 | 147 72 72 M5x8 | M5x8 | 80 | 30 | 12 | 20 | 32 | 24 | " | 405 | 0.1 | 0.16 | <1 <1 14 | <1
PAB 063 | 167 88 83 M5x8 | M5x8 | 80 | 30 | 12 | 20 | 32 | 24 | " | 405 | 0.2 | 0.23 | <1 <1 21 <1
PAB 075 | 184 | 100 95 M5x8 | M5x8 | 80 | 30 | 12 | 20 | 32 |24 | 4" | 405 | 03 | 0.34 | <1 <1 27 | <1
PAB 083 | 210 | 109 103 | M5x8 | M5x8 | 80 | 30 | 12 | 20 | 32 | 24 | 4" | 405 | 04 | 047 | <1 <1 33 | 0.8
PAB 092 | 262 | 117 109 | M5x8 | M5x8 | 80 | 30 | 12 | 20 | 32 | 24 | " | 405 | 0.6 | 0.73 | <1 <1 4.7 1
PAB 105 | 268 | 133 121 M5x8 | M5x8 | 80 | 30 | 12 | 20 | 32 | 24 | V4" | 40.5 1 0.88 | <1 <1 6 2
PAB 125 | 301 155 143 | M5x8 | M5x8 | 80 | 30 | 20 | 20 | 32 | 24 | %" | 55 1.6 1.4 <1 <1 O15) 3
PAB 140 | 394 | 173 152 | M5x8 | M5x8 | 80 | 30 | 20 | 20 | 32 | 24 | ¥." | 55 25 | 23 <1 <1 14 3.9
PAB 160 | 458 | 198 174 | M5x8 | M5x8 | 80 | 30 | 20 | 20 | 32 | 24 | ¥a" | 55 38 | 34 | <15 <15 | 21 4
PAB 190 | 528 | 232 206 | M5x8 | M5x8 | 130 | 30 | 30 | 30 | 32 | 24 | 4" | 80.5 | 6.1 56 | <15 | <15]| 33 5
PAB 210 | 532 | 257 226 | M5x8 | M5x8 | 130 | 30 | 30 [ 30 | 32 | 24 | »»" | 805 | 7.8 | 7.8 <2 <2 39 5.5

AA|A
SN S IENIMIINIINI ST EN NN N N N
-

o

PAB 240 | 608 | 291 260 | M5x8 | M5x8 | 130 | 30 | 30 | 30 | 32 | 24 | %" | 80.5 | 11 95 | <5 | <5 53 9 68
PAB 270 | 716 30 294 | M6x10 | M5x8 | 130 | 30 | 30 | 30 | 45 | 40 | 2" | 805 | 18 | 148 | <5 | <5 77 10 97
PAB 300 | 820 | 354 336 | M6x10 | M5x8 | 130 | 30 | 30 | 30 | 45 | 40 | 2" | 80,5 | 24 | 29,7 | <6 | <6 | 112 13 141
1) BSP /1S0 228 / DIN 259
V(l) 7R (LA 79 8411 , VO = FF (OPEN) , VC = 3% (CLOSE)

EUHETTERES, FRER WUFA R B RUBRSES.

tO/tC  tO=#TFFBYial/ tC = XKiABY(a] (AL AFD)

iR rER B R TR A TIRIGH:

HSREFER/NAS.5 bar (80 psi) -EiE T-HITETIZ0- TR LA AWM R-TEER6mMm, KESm
ARCEREIRED, MRS LRITERIERN— N HS 6, WiREREHBERE,

EN 1SO 5211 Q Qf w W1 CH® x| CH¥* x|
PAB 052 Fo5 - 50 - M6x10 Bx 14* -
PAB 063 FO5-FO7 50 70 M6x10 M8x13 . Xt
T x 14
PAB 075 FO5-FO7 50 70 M6x10 Mgx13 - hxd
Bx21° 4x 17
PAB 083 F05-FO7 50 70 M6x10 M8x13 Sx s 1T
PAB 092 FO5-FO7 50 70 M6x10 M8x13 11 x 21* 1T
T x21* 17 x 21
PAB 105 FO7-F10 70 102 M8x13 M10X16 a2y el
11 x21* L 17x21
PAB 125 FO7-F10 70 102 M8x13 M10x16 22x 27
14 x 24* 22 x 40
PAB 140 F10-F12 102 125 M10x16 M12x20 . L Z2xAs |
22 x 40
PAB 160 F10-F12 102 125 M10x16 M12x20 R 22x27
22 x 40°
PAB 190 F12 ; 125 ; M12x20 22X -
22 x 40°
PAB 210 F12 ; 125 ; M12x20 X -
22 x 48°
PAB 240 F12 ; 125 ; M12x20 At -
PAB 270 F16 - 165 - M20%25 - 46 x50
PAB 300 F12 - 125 - M12x20 27 X 56° -
*EEEEIEAISE

The technical data are noncommittal and do not assure you of any properties. Please refer to our general sales conditions. Modifications without notice
© 2021 InterApp AG, all rights reserved

www.interapp.net 4/4 PAB Pneumatic actuators_2129 cn-s



